COQ

(mod 2)

blocks | defect matrix
G: 1 18 59 x 12
2 0 18350081 = X54,¥13




Block 1: | o1 92 93 @1 @5 @6 @1 Ps P9 P00 P11 P12
11 = X1 1 .
231 = X2 1 1 .
231 =x3| 1 1 1
25y =xa| 1 2 1 . .
17711 = x5 1 2 1 1 1
2024, =x6| 2 3 2 1 1
22771 = X7 3 4 3 1 1 .
40251 = xs 1 2 2 . . 1 .
70841 =x9| 2 2 1 1 1 1 .
103951 = X12 1 3 1 1 1 . 1
103952 = X13 1 3 1 1 1 . . 1
126501 = X14 4 6 3 2 2 1 1 . .
230001 = X15 2 4 3 1 1 1 . 1 1
31625 =x16| 5 8 4 3 3 1 1 1 1
316252 = X17 5 8 4 3 3 1 1 1 1
318781 =x1s| 6 9 5 3 3 1 1 1 1
374221 =x19| 8 12 7 4 4 2 1 1 1
442751 =x20 | 9 14 7T 5 5 2 2 1 1 .
632501 = X21 4 8 4 3 3 1 . 1 1 1
91125; =x22| 9 16 7 6 6 1 1 2 2 1
91125 =x23| 9 16 7 6 6 1 1 2 2 1 .
1138501 = x24 | 10 11 5 4 4 | 1 1 1
1295361 =x25 |12 16 6 6 6 2 2 1 1 . 1
1771001 = x26 | 14 19 9 7 7 1 1 2 2 1 1
1844371 = xo7 | 17 22 11 8 8 1 2 2 2 1 1
2125200 = x28 | 26 37 18 13 13 4 4 4 4 . 1
2213751 = x99 | 17 25 12 9 9 2 1 2 2 2 1
226688, =x30 | 24 33 16 12 12 3 4 3 3 1 1
23908571 = x31 | 21 30 15 11 11 2 2 2 3 2 1
2390852 = x32 | 21 30 156 11 11 2 2 3 2 2 1
2459167 =x33 | 26 39 19 14 14 4 3 4 4 1 1
253000; =x34 122 33 16 12 12 3 2 3 3 2 1
2846251 =x35 | 27 41 20 15 15 4 3 4 4 2 1
3129841 =x36 | 34 50 25 18 18 4 4 5 5 2 1
3688741 =x37 | 34 44 22 16 16 2 4 4 4 2 2
398475, =x38 | 37 H2 25 19 19 4 4 5 5 2 2
3984752 = x39 | 37 52 25 19 19 4 4 5 5 2 2
430353; = x40 | 43 61 30 22 22 5 S5 6 6 2 2




(Block 1:) | o1 @2 3 w4 95 @6 @1 @3 P9 Pro P11 P12
4427501 = x41 | 40 58 28 21 21 5 4 5 5 3 2
462000; = x42 | 48 70 34 25 25 6 6 T 7 2 2 .
4677751 = xqa3 | 31 44 22 16 16 2 2 4 4 3 1 1
59589001 = x4a | 40 60 29 22 22 3 3 6 6 4 1 1
637560 = x45 | 48 69 33 25 25 4 4 T T 3 2 1
6641251 = x46 | 93 75 37 27 27 4 5 8 8 3 2 1
6641259 = x47 | 53 75 37 27 27 4 5 8 8 3 2 1
6641253 = x48 | 53 75 37 27 2t 4 5 8 8 3 2 1
853875 = x49 | 71 100 49 36 36 6 7 10 10 4 3 1

1288000; = x50 | 114 162 80 58 58 12 12 16 16 6 5 1
12910591 = x51 | 109 154 75 56 56 10 11 15 15 7 5 1
17710001 = x52 | 146 208 102 75 75 13 14 21 21 9 6 2
17710002 = x53 | 156 224 109 81 81 17 16 21 21 10 7 1
19430401 = x55 | 156 223 108 81 81 14 14 21 21 11 7 2
1992375, = xs6 | 169 241 118 87 87 16 17 24 24 10 7 2
2004750; = x57 | 166 237 116 8 86 16 16 23 23 11 7 2
2040192 = x58 | 168 240 118 87 87 15 16 23 23 12 7 2
20725761 = x50 | 168 239 114 87 87 16 16 22 22 11 8 2
20958751 = xe0 | 175 253 123 92 92 17 17 25 25 12 7 2

w1 = 1y o7 = 5312

Y2 = 221 s = 86021

Y3 = 2301 Y9 = 86022

Y4 = 7481 Y10 = 369381

Y5 = 7482 Y11 = 839481

Y6 = 35201 Y12 = 1565381



